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Prof. Ram, Fall 2006

HOMEWORK 3: SELECTED ANSWERS

Problem C. Computing some derivatives
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Problem D. Correcting derivative identities
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Problem G. Derivatives with respect to functions
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Problem H. Derivatives of parametric equations
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Problem I. Implicit differentiation
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Problem J. Derivatives with trigonometric functions.
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Problem K. Derivatives with exponentials and logs.

dy 7 59

dy
2) =L — ax+b+1
2) o

d
(3) d—y = 32%4" Ina.
x

(4) W _ . g6,

dx
dy 2ax
5) == = )
(5) de ax?+0
dy 0.2

(7) Z—i = 2(e* +e7%").

d
(8) & _ 2(x + 1)69”2""%.

dz
d
9) ﬁ = az® 'a® 4+ z%a* Ina.
d
(10) ﬁ = (z+1)e”



